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Math 1313
Test 3 Review

Chapter 4 Flow Chart

The following flow chart will help categorize math of finance problems with compound

interest.

Is the problem:

asking for payments?

giving payments?

Sinking Fund
or
Amortization

Future Value of an annuity
or
Present Value of an annuity

v

neither asking for payments nor
giving payments.

Present Value with Future Value with compound
interest

compound interest
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1. Nicholas and Olivia are buying a house for $250,000. They made a 15% down
payment. Their financing is for 30 years at 6.78% annual interest compounded monthly.
Find their monthly payment. . 06718

Aworkiakion P=250000(.85) =2\2S00 L o

Py 212500 061842 _ _

\- (1S \= C\x .0678/125~ =0 = 1>32.5| “’-BCZ(DQ\
=3

2. Mary deposited $5,000 in an account that earns 9% per year compounded monthly.
How much will she have in 40 years, when she retires?
V. CcX
\2(40)

P+ = s0o( \+.0a4D = \8054q. Sl

3. Megan bought a new car. Her car payments are $385.17 for 6 years. Her financing n=6 (,\2)
rate was 8.9% annual interest compounded monthly. She made a $1,200 down payment.

Py A What was the total purchase price of the car? - =12
e oGS (= (1+.089/35
P=E . = 85\ ~
¢ .08a /\2

= 2\426.271 + \200 =V22626.271

4. Anna wants to have $5,000 saved when she graduates from college so that she will
have a down payment for a new car. Her credit union pays 5% annual interest
compounded monthly. How much money should she deposit each month to have the
money aixallable when she graduates in 3 years?

S\T\k\hg
e. Fo So000 (.03/1DD

U+t«5 1 (U+.05/>°- &

5. Sergio wants to have $5,000 in the bank in 3 years to pay for an Alaskan cruise. How
much cash should he deposit today, if the bank pays 4% annual interest compounded
quarterly, if he wants to be sure to have the funds available in 3 years?

SN Y el il
N -
P=t(\+D = SOG:)(\'\'-OL\/HB =quuz=1.25

- ﬂ \2Q.02

Math 1313 — Test 3 Review 2



6. Gary decided to save some money for his daughter’s college education. He decided to
save $300 per quarter. His credit union pays 4.5% per year compounded quarterly. How
much money will he have available when his daughter starts college in 10 years?

FV.of A.

Io(4)
N Lous/my o
[ E[C”"-? M - 200 Q > = dispso.os

C .045/“!

7. John wishes to set up an account for his grandfather so that he can have some extra

money each month. John wants his grandfather to be able to withdraw $120 per month

for the next 4 years. How much must John invest today at 4% per year compounded
p A monthly to set up this account?

- —h -~ 48
s e (quz ,20[ |- (1+.04/D>
L O-'-l/)_

|Su
8. A group of students were surveyed. One-hundred fifty-four are enrolled in Chemistry,

49 are enrolled in Business Calculus, 38 are enrolled in both, and 26 are not enrolled in
either course.

=843 2\4. 66

\Dh-2 = (I
ha-2x2= |\

26

a. How many students were surveyed?

No+R2+\|x26 = Q)

b. How many students are enrolled in exactly one of the two courses mentioned here?

Mo+l = \2

c. How many students are enrolled in Business Calculus or Chemistry?

o +2 4 || oOR_ \Q\ - 26 = 6D
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9. Given the following VVenn diagram, find:

U
7
a. n(G°ﬂF) TS5+ == b. n(F°U(EﬂG)) =\B+A 4\ \\ T

10. A license plate consists of 2 letters followed by 4 digits. How many license plates
are possible if the 1% letter can’t be O, and no repetition of letters or digits is allowed?

252502 - 81 = \0,000

11. A restaurant offers 6 appetizers, 4 salads, 8 entrees, and 5 desserts. In how many
ways can a customer select a meal consisting of an appetizer, a salad, an entrée, and a
dessert?

6 (WD = q60

12. In how many ways can a president, vice-president and a secretary be chosen from 22
members of a club, if one person cannot hold more than one position and all 22 members

are eligible for any position? = R <

= 222020y = Q210

N A N\
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13. A committee consists of 11 people. In how many ways can a subcommittee of 4
people be chosen?

C(II.HS'L 3320

14. A coin is tossed 20 times.
a. How many outcomes are possible?

20
2 = |\l oug 16
b. In how many outcomes do 10 tails occur?
Cc(20,10) =\gy 156
c. In how many outcomes do at least 18 tails occur? \&T  \AT 20T
C20\8> + €20\ + C(20,23 = 24\
d. In how many outcomes do at most 17 tails occur? o= AT 2% L v

2o comys. = \BY,
2 - (-C(?-O.lgs +C(20\\q§-» C (20‘7_051: l\OH&\B65 \aQx

]

207V

15. A crate of 17 apples contains 4 rotten apples. Seven apples are chosen at random
from the crate. \—\
a. How many selections contain 2 rotten and 5 good apples? \

ClD (S>> = 1122 hw e
v
b. How many selections contain 3 rotten apples? Ll G s 2% l S&
CCHD (B = 2360 2R ke
2R o UR
' i ?
?39(.: How many selections contallrl atQ.Ieast 3 rotten apples? \ \:\
CAUDDCSN 4+ (DT, D = 3146 MR G
d. How many selections contain at least 1 rotten apple? R Lhé‘

une cowp OR 16 0o 36
c(n D — CUD T = \ T2
16. Let E and F be events of a sample space S. Let P(E®) = 0.69, P(F) = 0.36 and
PEUF)°=045. Find: P(EY = 2| (D =.2¢ P(ELE)=.55
Py ®S=P(EUM -P(H = .28-.26=.\4

45 Plong™ = P(EURN-P(E = s5-.a1= .24

™ ?il. Find PﬂEU F) b. PENF)¢ c. PEENF®)
=, +.\24 2= =TS
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17. A coin is tossed 10 times. 2
a. Find the probability that exactly 2 heads occur.

c (O,D

(]

2

= .Old=zq

) . OH ar AN
b. Find the probability that at most 1 head occurs.

c(eOod *CcloS Lo

2\0 - S © = S = _0O\OT
o c. Find the probability that at least 3 tails occur. 2,7 WS.. .0 Use c.ome\e -\l_
2 -Y_C(to.oS-k C(oO+ (1o, oT \T ,2X
=.qlUB3
Z\CD
18. A judge has a jury pool of 40 people that contains 22 women and 18 men. She needs
a jury of 12 people.
a. What is the probability that the jury contains 6 women and 6 men? ll‘D
C (22> (182, ‘ \
C (WO,\\D yé’ !
b. What is the probability that the jury contains 8 women? ’-\N\
C (22,3 (@D _ W 1\
= SV e y1s
@Y
2> O,1,..., 10 comp. WM ac\2¥

c. What is the probability that at most 10 men_are on the jury?

C (oS — | c(22D <\ + C(zo,OX(\g,o_\1

C(Ho D

. - AW ac \2W
d. What is the probability that at least 11 women are on the jury?

C (2.Oc(8D + C(2n D C(\aqd')5'= 0024
C (LoD

=.qQqaqg
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Formulas to be Provided on Test 3
It will be a link!

[ =Prt F=P(l+rt)
PR
(1+7)" -1 P=F(Q1+i)™"
P:E{l—(1+1)‘ } £ Pi _
i 1-(1+1)™"

e E[w}

1

m n=mt

n(AU B):n(A)+n(B)’if AﬂB= %]
P(EUF)=P(E)+P(F)’if EﬂF= %]
n(AUB) =n(A)+n(B)-n(ANB) it ANB#

P(EUF)=P(E)+P(F)-P(ENF) t ENF = 4

(AUB)® = A°NB°

(ANB)® = A°UB®
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